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Puzzle Test Questions for IBPS PO Pre, RRB Scale I Pre, SBI PO 
Pre, Syndicate Bank PO, Canara Bank PO, IBPS SO Pre, IBPS Clerk 
Mains and SBI Clerk Mains Exams. 

Set No 140 
 

Directions: Study the following information carefully and answer the questions given beside: 
 
Six persons namely Rathish, Ranjan, Tarun, Bibin, Jenish and Riyaz are working in different public-sector 
undertakings among BHEL, ONGC, IOC, HPCL, NACL and GIC but not necessarily in the same order. They all are 
at different designations like MD, GM, AGM, DGM, Assistant and Supervisor but not necessarily in the same 
order. They all get special allowances for their efficient work among Rs.12000, Rs.14000, Rs.20000, Rs.60000, 
Rs.10000 and Rs.25000 but not necessarily in the same order. Rathish works in BHEL as MD and 
he gets Rs.12000. Riyaz works in GIC. Tarun is an AGM. Bibin gets Rs.60000. Jenish works in NACL. The person 
who is working in ONGC gets Rs.14000. The one who works in HPCL is DGM. The Supervisor gets Rs.25000 but 
he is not Jenish. Ranjan neither works in IOC nor works in HPCL. The Assistant gets Rs.10000.  
 

1.  Which among the following is GM? 

A. Jenish  B. Ranjan  C. Bibin  D. None of these E. Cannot be 
determined 

 
2.  How much amount is received by Tarun? 

A. Rs.14000  B. Rs.25000  C. Rs.10000  D. Rs.20000  E. None of these 

 
3.  Who among the following works in IOC? 

A. Person who works as AGM  B. Person who gets Rs.60000  C. Ranjan  D. Bibin  
E. None of these 

 
4.  Which of the following is not correct? 

A. Rathish - BHEL - MD  B. Jenish - NACL – Assistant  C. Tarun - IOC - AGM   
D. Riyaz - GIC- DGM   E. Ranjan - ONGC - GM 

 
5.  Which of the following persons gets Rs.20000 for special allowance? 

A. Jenish  B. Tarun  C. Bibin  D. Ranjan  E. None of these . 
 

Correct Answers: 
1 2 3 4 5 

B D A D B 

 



 

 

COMMON EXPLANATION: 
  
References: 
 
Rathish works in BHEL as MD and he gets Rs.12000. 
 
Riyaz works in GIC. 
 
Tarun is an AGM. 
 
Bibin gets Rs.60000. 
 
Jenish works in NACL. 
  
Inferences: 
 
From above statements, 
 
All the above information is given directly, by using we get the initial table as follows, 
  

Person PSU-Company Designation Allowances 

Rathish BHEL MD Rs.12000 

Ranjan       

Tarun   AGM   

Bibin     Rs.60000 

Jenish NACL     

Riyaz GIC     

  
References: 
 
The person who is working in ONGC gets Rs.14000. 
 
The one who works in HPCL is DGM. 
 
Ranjan neither works in IOC nor works in HPCL. 
  
Inferences: 
 
From above statements, 
 
Ranjan works in ONGC and he gets Rs.14000 (only possibility) 
Bibin works in HPCL as DGM (only possibility) 
  
By using above information, we get the table as follows 
  
 



 

 

Person PSU-Company Designation Allowances 

Rathish BHEL MD Rs.12000 

Ranjan ONGC   Rs.14000 

Tarun   AGM   

Bibin HPCL DGM Rs.60000 

Jenish NACL     

Riyaz GIC     

  
References: 
 
The Supervisor gets Rs.25000 but he is not Jenish. 
 
The Assistant gets Rs.10000. 
  
Inferences: 
 
From above statements, 
 
Finally, Tarun works in IOC as AGM. 
 
Riyaz is a Supervisor and he gets Rs.25000 (only possibility) 
Jenish works in NACL as Assistant and he gets Rs.10000 (only possibility) 
 
Finally, Ranjan works in ONGC as GM and Tarun has gets Rs.20000. 
 
Thus we get the completed table as follows, 
  

Person PSU-Company Designation Allowances 

Rathish BHEL MD Rs.12000 

Ranjan ONGC GM Rs.14000 

Tarun IOC AGM Rs.20000 

Bibin HPCL DGM Rs.60000 

Jenish NACL Assistant Rs.10000 

Riyaz GIC Supervisor Rs.25000 
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Answers : 
 

1. Following the common explanation, we get "Ranjan-GM". 
 
Hence, option B is correct. 

 
 
2.   Following the common explanation, we get "Tarun-Rs.20000". 

 
Hence, option D is correct. 

 
 

3.  Following the common explanation, we get "Tarun-IOC-AGM". 
 
Hence, option A is correct. 

 
 

4.   Following the common explanation, we get "Riyaz GIC Supervisor ". 
 
Hence, option D is correct.. 

 
 

5.  Following the common explanation, we get "Tarun is the person who gets Rs.20000 for special 
allowance".  

  
Hence, option B is correct. 
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